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Aptitude Test
Paper 1l

Time Allowed : 2 Hours] [Maximum Marks : 200

Directions (Q. Nos. 1 to 4) : people combine to produce a person

Read the passage carefully and
attempt Question Nos. 1 to 4 by
choosing the most appropriate
option :

Astute Management is getting
things done through people.
Management is required because
someone has to point the way and
that same person has to ensure that
everyone concerned gets there. It is
a common saying that,” managers
are naturally born”, Like all clichés
there is some truth in it although
it cannot be taken literally. There
are many successful managers
around, who demonstrated their
abilities at an early age have never
looked back since. They have natural
talents, and although they may not
have actually been born with them,
these talents have been fostered by
their upbringing and experiences at
school, university or in the armed
forces. Their charisma, inspirational
qualities and ways of handling

AT-T1—A

about whom everyone says he's a
natural leader. Effective leaders
start with same natural talents, and
then they build on them. They are
good at observing how to do it and
how not to do it. They learn from
their experience and they keep on

learning.

Which of the following is the
synonym for the word clichés as used

in the passage ?

(A) Groundnut

(B) Truism

(C) Formula

(D) Hidden

What is Judicious Management ?
(A) Give direction and follow people

(B) Never to look back for support
or help

(C) Telling people the meaning of

success

(D) Being able to achieve goals with
the help of people
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Astute Management is getting
things done through people.
Management is required because
someone has to point the way and
that same person has to ensure that
everyone concerned gets there. It is
a common saying that,” managers
are naturally born”. Like all clichés
there is some truth in it although
it cannot be taken literally. There
are many successful managers
around, who demonstrated their
abilities at an early age have never
looked back since. They have natural
talents, and although they may not
have actually been born with them,
these talents have been fostered by
their upbringing and experiences at
school, university or in the armed
forces. Their charisma, inspirational
qualities and ways of handling

AT-1I—-A

natural leader, Effective leaders
start with same natural talents, and
then they build on them. They are
good at observing how to do it and
how not to do it. They learn from
their experience and they keep on

learning.

Which of the following is the
synonym for the word clichés as used
in the passage ?

(A) Groundnut

(B) Truism

(C) Formula

(D) Hidden

What is Judicious Management ?
(A) Give direction and follow people

(B) Never to look back for support
or help

(C) Telling people the meaning of
success

(D) Being able to achieve goals with
the help of people
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What combine together to produce
a natural leader ?

(A) Role of heredity and

environment

(B) Zeal to lead people even when
they do not desire

(C) Charisma and inspirational
qualities
(D) Born talent for good observation

Which of the following is the
antonym for the word Charisma as
used in the passage ?

(A) Repulsion
(B) Allure

(C) Charm

(D) Captivation

Directions (Q. Nos. 5 to 16) :

Fill in the blanks with the correct
option.

Is this __ Orient or __ Longman
publication ?

(A) an, an

(B) an, a

(C) an, _

(D) an, the

AT-1I—A

My children cannot endure___.
(A) my separation,

(B) separation of me.

(C) separation from me.

(D) mine separation.

Ruminant is .

(A) a cud chewing animal.

(B) to declare beforehand.

(C) a science of diseases of animals.
(D) globe trotter,

Give me something to drink, __ I
shall die.

(A) else

(B) or

(C) because

(D) if not

A connoisseur of good food is called

as

(A) dietician
(B) heretic
(C) foodie

(D) gourmet
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Is this __ Orient or __ Longman
publication ?

(A) an, an
(B) an, a
(C) an, _
(D) an, the
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My children cannot endure___ .
(A) my separation..

(B) separation of me.

(C) separation from me.

(D) mine separation.

Ruminant is

(A) a cud chewing animal.

(B) to declare beforehand.

(C) a science of diseases of animals.

(D) globe trotter.

Give me something to drink, I
shall die.

(A) else

(B) or

(C) because

(D) if not

A connoisseur of good food is called

as ___.
(A) dietician
(B) heretic
(C) foodie
(D) gourmet
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10.

11.

12.

13.

A general pardon for political
offenders is known as ____.

(A) hospitable

(B) armistice

(C) forgiveness

(D) amnesty

He is unable to ____ the meaning
of this passage.

(A) make off

(B) make up

(C) make out

(D) make over

Loveleen is the most fussy girl that

I __ met.

(A) have ever
(B) had ever
(C) had

(D) have

The Honourable Court

decree.

(A) set off

(B) reduced off
(C) set aside
(D) set about

the

AT-11—A

14,

15.

16.

The French Government the

rebellion with a firm hand.
(A) put down

(B) broke away

(C) instigated

(D) castigated

Institutions have to

a lot of noise.
(A) send for
(B) make down
(C) put up

(D) turn away

It was a task for the cadets to

cross the mountain.
(A) Sully

(B) Cumbersome
(C) Inimitable

(D) Rumpus
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Directions (. Nos. 17 to 23) :

Read the following Newspaper
report carefully to answer the
questions 17 to 23 :

FRAUD ON PASSENGERS

Tuesday bungling at Delhi airport
once again confirmed that its
monopoly position had made Indian
Airlines as callous as it is inefficient.
To recapitulate a disgraceful
sequence, 1.C.764, bound for
Calcutta and scheduled to leave
Delhi at 4:40 p.m., was suddenly and
inexplicably cancelled without a
word of explanation or apology.
This is of course, an increasingly
common occurrence nowadays with
Indian Airlines, but the ingenious
euphemism chosen this time was
that 1.C.764 has been merged with
1.C.264, due to leave Delhi at 8:30
p.m., and that all passengers booked
on the former were automatically
guaranteed seats on the latter. It
should be axiomatic by now that
such assurances are meant to be
ignored; but faith in officials
promises dies hard and, on the whole,
Indians still treat authority with far

AT-T1—A

more respect than it deserves, The
public will probably continue to do
so even after Tuesday evening's
nightmare experience when officials
at the airport check-in counter for
Calcutta brushed aside all previous
undertakings and flatly announced
that 1.C.264 could not accommodate
a large number of the passengers
who had been booked on 1.C.764 and
were waiting to go to Calcutta. The
stranded men, women and children
were then advised to have their
tickets rebooked for the following
morning's 1.C.401, but naturally,
without a word of apology for the
delay and inconvenience or any
suggestion that Indian Airlines
should accept responsibility for the
extra night's board and lodging in!
Delhi.

This churlishness was nothing,
however, to the fraud that the
airlines seem to have practiced on
at least some passengers. When
some of the people who have been
shunted from 1.C.764 to 264 and
then told to come back the next day
asked for endorsements for
Wednesday morning’s 1.C.401. The]
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Duty Officer at Delhi airport’s-

departure lounge readily obliged,
writing “OX.” on the tickets and
signing his name, “D.S. Jolly”. But,
for reasons that can only be guessed
at, he omitted to punch the relevant
entry into the computer so that the
endorsement was worthless and
passengers who held what looked
like trebly confirmed (for 1.C.764,
264 and 401) tickets were again
given the brush-off on Wednesday
morning. As it happens, that
particular Delhi-Calcutta flight
was not full, so all — or, at least,
most — stranded passengers were
finally taken abroad, but not before
acrimonious argument and
uproarious confusion, with no one
prepared to accept the chain of half
— truths and downright false — hoods
that the airline personnel trotted
out, often with extreme rudeness,
when they bothered to say anything
at all. No doubt, Indian Airlines will
now produce a detailed reply to
explain away all complaints. But
such excuses long ago ceased to
command credence. Nor would a

genuine explanation prove — or

AT-1I—A
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17.

18.

solve — anything. The point is that
a bureaucratic monopoly like Indian
Airlines enjoys is unworthy of the
country; and if the new Government
really wishes to serve the flying
public better, it will allow some form
of competition. Nothing else will
save passengers from this kind of
harassment. .

Why did the Indian Airlines cancel
1.C.764 flight ?

(A) Because there was technical
fault.

(B) Because the pilots refused to fly
the plane.

(C) Because the weather was bad.
(D) No explanation was given.
The author feels that :

(A) Indian Airlines needs more
aircrafts to handle the situation
efficiently.

(B) All the events happened due
to
callousness of the Indian

mismanagement and

Airlines management.
(C) Indian Airlines runs the flight
at very low price.

(D) All of the above are true.
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a1 7% ¢ o eaa waten ¥ Aememd
% W Ay ¥ 4% 2ofem | A9 %
3t afr % TR SeE-AfEl w et
WA FAR TG A AW
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$fe7 wens=s 3 1.C.764 38H ©& ¥
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(A) ®iife 398 aa-rHl avE 9

(B) iife yraeel A serst 38R ¥ WAl
w1 fem

(C) =iifs draw @™ @
(D) #% HRU @ fea T
was guEa & @ e

(A) 3fegq waran=w &1 ufifeufq
Aved & fou wfys fage &1
HEAIFEA B

(B) |t mzand $fegq taEng # FeR
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19. The author feels that D. S. Jolly,

Duty Officer at Delhi airport :
(A) Purposely omitted to punch the

relevant entry into the
computer though he signed to
escape the situation.

(B) Did not know the actual
procedure of endorsing an air
ticket.

Was not authorized for such
endorsement in the ticket hence

it had no value.

The procedure that was followed
was entirely wrong because

only airport manager can do it.
flight

(C)

(D)

. The passengers of the
No. 1.C.764,

(A) Were all gentle and polite and
they did not utter a single word
against mismanagement of
Indian Airlines.

Were able to board the flight
on Wednesday after severe
altercation with the Indian
Airlines authority for their utter
mismanagement and rudeness
in behavior and lies.

Cancelled their Air ticket and
finally travelled by train.

(D) None of the above

(B)

(&)

AT-II—A
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21.

22,

“Bureaucratic monopoly .... is
unworthy of this country”. Why the
author commented like this ?

(A) Because of the mismanagement
that often oceur in monopolistic
organization like Indian
Airlines,

(B) Because he feels that people
work only under compulsion
and that cannot be exercised in

a government organization.

(C) Our countrymen are very lazy

and do not like to work hard.
(D) None of the above

“This churlishness was nothing,
however, to the fraud that the
airlines seems to have practised on
at least some passengers.” What does
the author mean by saying “this
churlishness” ?

(A) The abrupt cancellation of
flight.

The absence of duty officer after
announcing the cancellation of
the flight.

The assurances given are meant
to be ignored.

(D) Harassment of the passengers
without a word of apology for
delay and inconvenience
caused.

(B)

(C)
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(C) femz gfie (T=rdie) %@ # fem
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20. 3TA wE 1.C.764 & Tt

(A) Bt vz 7 faw 4 3 321 sfewm
TREAGH & AT & 95g &
by TE we

(B) ¥zmq wweg= & afumid &
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(C) 7 3y w3 fese e %1 W
e H

(D) 39w & | =
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..................

(B) #if& & wuga ¥ f& &m <am #
B F™ F0 %

(C) #aR Zyrare Tl erdt € 9w
TE FTN AR
(D) 397 4 | ¢ 78

‘gz sfrerar @ 2 7@ A e
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F 7 afaum ¥ 2

(A) TzH & FEEH WE B

(B) I5M G2 B %1 =W & &g 24
sfrt &1 sefaa @A

(C) ¥ ar &4 10 9 3 TReA
% fow a9

(D) =i %7 srafawn @ 30 & forg farm
_fam‘} HOEET & S SeTEA |
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23.

The author is of the opinion :

(A) To stop such mismanagement,
government should bring some
competition among the
organizations.

(B) The explanation given by
Indian Airlines authority for
such incidents has ceased to
command credence long ago.

(C) Monopolistic position has made
Indian Airlines inefficient and
callous.

(D) All of the above are true.

- Directions (Q. Nos. 24 to 27) :

‘94,

In each of the following
questions, one of the words is
written in bold. From among
the four alternatives given
below each question, choose
the word which is nearest in
meaning to the bold words :

We have abundant data on the
relationship of brain and body size
in reptiles.

(A) plentiful

(B) spacious

(C) extensive

(D) considerable

AT-11—A

25. There is not even one redundant
word in the paragraph.

(A) high-sounding
(B) wrong
(C) difficult
(D) superfluous
26. They were totally unaware of the
impending disaster.
(A) threatening
(B) imminent
(C) terrible
(D) possible

27. Grouping stars by constellation is
handy way of mapping the sky.

(A) nice
(B) funny
(C) manual
(D) convenient
Directions (Q. Nos. 28 to 30) :

Choose the word which is most
nearly the same in meaning as
the word given in capitals in
each question :

28. INSOLVENT
(A) poor
(B) bankrupt
(C) penniless
(D) broke

14



23, wEF H W ¥ F o

(A) T8 Jya=F ¥ a1 & fou 5@
%1 fafv= gt 4 wiadfa ar

Hfea |

(B) 3feds wRens=q 5o UEt wead &
fau & 9/ Al gwEal fHvam &
a& €l

(C) e TaERw # THiyERER]
feafs 3 38 &R a8 FHy@ a0
& T

(D) 374= oft @@ ¥

fdyr v ®. 24 | 27)

24.

frefafas vas uve 4 o= v= e
(Bold) faflam &1 = faemedl & &
faférea: sifea (Bold) v & waw
frarzan ad are v @t 9

I U WYY 7 % w9 qfaes
% gy § uew o § aiwg ¥

(A) FgaEa
(B) fawga

(C) g%
(D) faamitg

AT-11—A
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25.

26.

27.

s § uw o v Prde @ &
(A). e R a1 &

(B) 7o

(C) =i

(D) sfo=

4 WA At e | facma sEfim
9|

(A) wH&l W

(B) sravgwrat

(C) B|aEF (WaE)
(D) |wfaa

A & yEAEA F qAH § waEd
gfaarsme ol # aoHed § i

HA T

(A) =

(B) &R

(C) wriift (Frammaet)
(D) |/ EH

fadur (uva *. 28 ¥ 30) :

28.

foreredi o @ Wl vz 9 = fom v
% fau 7o #fe=w (Capitals) 3sw
& wurndt @

9 # Fa ¥ (INSOLVENT)
(A) T
(B) Teanferm
(C) wiEH
(D) 22 &=
P.T.O.



31

LYNCH

(A) hang

(B) madden

(C) kill

(1)) shoot
REBATE

(A) compensation
(B) loss

(C) refund

(D) discount’

Which figure should come right after
the problem figures, if the sequence
is continued ?

COs 0

O =
> 0O >
> o %
N =
x >0

x >

w0 O
we o
= a0

3 3
0 0
1 I

o >
=L
Wan O

>

(A)

O ww~
o =
»x

"
~

(B)

(C)

o Ww
M =
> O x

(D)

S W
M =
>0 x

AT-11—A
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32. In a certain code GONE is written

as ‘0 % 2 # and MEDAL is written
as ‘4 #33%@, how is GOLD written
in code ?

(A 5@% 3
(B) 6 % @ 3
(C)5#@3
D) 5%#3

. Fill in the missing (?)

COMPUTER : fqprxvht
LANGUAGE : ........... ?

(A) oxpixdig
(B) ocqicying
(C) ocqgixcjg
(D) None of the above

. Read the following information

carefully and answer the question
given below :

Five friends namely L, M, N, R and
S are standing in a row facing in
the same direction, but not
necessarily in the same order. Only
M is between L and S. N is to the
immediate right of S. R is to the
immediate left of L.

Who is occupying the middle
position in the row ?

(A) L
(B) S
(C) M
D) R



31.

a9 FE/H (LYNCH)
(A) Wi &

(B) 3R]

(€) =1 | W

(D) el |

f@z (REBATE)

(A) W

(B} =<

(C) W= =t =gHi/fwe
(D) %/fearm

7z § W FEe N @ T A
WATH T ® UHeH 9% FAU! AHE A
aifgy ?

N =0

>4 %
w N ™
-0
W
= a N
= >0

"Nk
»Ox
~ O W
*x »D

- O w
N D

o x >
0w

"
>

(A)

o wnN
o 3=
o

"
>
~

(B)

o w
™ =
> O =

(C)

(D)

o ww~
" =
>0 >
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32 s favm =iz § 3fz ‘GONE’ #1

5 % 2 # #H ‘MEDAL' !
‘4 4 3 $ @ famn s %, @ ‘GOLD’
w 36 #e § #9 fomn wmem ?

(A 5@%3
(B) 5% @3
C)54@3
D) 5% #3

. @\ = 9t (9

COMPUTER : fgprxvht
LANGUAGE : ........... ?

(A) oxpixdig
(B) ocqicying
(C) ocqixcig
(D) 3w # | F§ T

. Trefofas gaa #1 =R § 9fgy e

T4 feu wm w1 3w dfew .

ga L, M, N, R 3R S @& dfF
Huw @ foon #t o dg @ @S

g fou v wm & s I T
LAaS#Hda Faa M2IN, S & wen

ot & 3R L & wwew ad R ¥
i@ H na B oaEw 7
(A) L (=)
(B) S (m¥)
(C) M (wm)
(D) R (3m)

P.T.0.



35. Hemant walks from his house and

moves 4 meters towards North. He
turns at 90° to his right and moves
3 meters. He takes another 90° turn
to the right and walks 4 meters.
From here Hemant turns 90° to the
left and moves for another 1 meter.
He finally turns 90° to the right and
moves for another 3 meters, his
final destination. What is the
distance between the starting and
destination points ?

(A) 4 meters
(B) 5 meters
(C) 7 meters
(D) 8 meters

Directions (Q. Nos. 36 to 40) :

Read the following information
carefully and answer the
following questions given below
it :

In a family there are six members
A B, C D EandF. A and B are
a married couple, A being the male
member. D is the only son of C, and
C is the brother of A. E is sister of
D. B is the daughter-in-law of F,
and husband of F has died.

AT-11—-A
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38.

39.

How is F related to A ?
(A) Mother

(B) Sister-in-law

(C) Sister

(D) None of the above
How is E related to C ?
(A) Sister

(B) Daughter

(C) Cousin

(D) Aunt

Who is C to B ?

(A) Brother

(B) Brother-in-law

(C) Nephew

(D) Son-in-law

How many male members are there

in the family ?
(A) One

(B) Two

(C) Three

(D) Four



35. &9 A1 WV 4 e IW A iR | 36. 'UF' W ‘U R 1 TEY § 2
g ¥ 5F @ Tl 3R 90° qEE (A) TR
’3ﬁamtnazmﬁmso°zrzﬂ B i
3N YL 4 HiX wow ¥ 99 A 2o
90° an! gt 1 Wi we ¥ 9% oW
# 90° a8 qEF 3 Hie 2 W # (D) 3vdF d § =
W e sfm fad 81 R | g7 @ Qo w2
s fag @ ifm wfew § faeh |

(C) =4

4t (A) =&
?
| (B) gl
(A) 4 Hiz
(C) T=0 weA
(B) 5wt
(D) ==t
(C) 7 #ix
38. ‘=, ‘i’ + =W T B2
(D) 8 W=
| (A)
ey (w97 %, 36 | 40) :
(B) &t A4Sl S/ HE/TRen
& T gu wgdes ufgn & e fw
e @ I L
o fEn § v we U, @, @, &, (D) ¥R

$WE UF (A, B,C,D,Eand F) & | 39. 9N # f&d 1o wewm § 2
‘v’ @ ‘a faarfee s ¥ e (A) TH
T ¥ @ e gE g e
W W o E Y am
T T R At e T & e
H v & T D) =N

AT-11—A 19 P.T.0.

(B) =
(C) =




40. How is F related to C ?

(A) Mother-in-law
(B) Sister-in-law
(C) Mother

(D) Aunt

Directions (Q. Nos. 41 to 44) :

Study the information given for
the different questions carefully
and answer the questions which

follow :

A training college has to conduct a
refresher course for teachers of 7
different subjects — Mechanics,
Psychology, Philosophy, Sociology,
Economics, Science and Engineering
from 22nd May to 29th May. Courses
should start with Psychology. 23rd
May being Sunday should be
holiday. Science subject should be
on the previous day of engineering
subject. Courses should end with
Mechanics subject. Philosophy
should be after the holiday.
Economics subject should be after
Philosophy. There should be a gap
of 1 day between Economics and

Engineering.

AT-11—-A
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41.

43.

Which subject will be on Tuesday ?
(A) Mechanics

(B) Engineering

(C) Economics

(D) Psychology

Which subject precedes Mechanics ?
(A) Economics

(B) Engineering

(C) Philosophy

(D) Sociology

How many days gap is there between
Science and Philosophy ?

(A) One

(B) Two

(C) Three

(D) No gap

Which subject is followed by
Science ?

(A) Engineering

(B) Psychology

(C) Philosophy

(D) Economics



40. 'v®’ @ ‘Hi' § wy ogay ¥ 2

(A) w4
(B) /s et
()

(D) =/t gan

o (wvT ®. 41 | 44)

Frefafaa o &t oy ufer @
few mu gl & e S .

H Tem Hefawe w1 wa e,
aifFt, wEifaam, <vfa, g,
4R, fagm a $eifafin & apamsi
% fou 22 | 29 w8 7% qAveg W
wEar ¥ W wfasE 9 e @
=few | 23 7% #i Waan & a =% g2
= foq #1 fasm famg Seifaftn fmg
q vz o7 o afew | wrd 2t fawg
& W9 FHE g AMMey 1 39 favg g
% fa7 % @ arn wifen | sdyne fau
wH % A a afen) sdves 3
geifrafin § ww 3 = ofa dm
Gy

AT-1I—-A
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41.

42.

WeER ® FEe fawa fmo?
(A) wifF

(B) it

(C) e

(D) wAfEm

aifywt | wed e fawg § 2
(A) FrevTe

(B) Feiifafen

(C) =¥

(D) TS

fagm a ovi7 4 e Rl 1 e
¥ 2

(A) TH
(B)
(C) dH
(D) #1 3w @
fagr % aw 2 famm & 2
(A) gifafan
(B) wAifasm
(C) =¥H
(D) @edwme
P.T.0.



Directions (Q. Nos. 45 to 48) :

Each of these questions contains
two statements followed by two
conclusions numbered I and I1. Take
the given statements as true even
though they may seem to be at
variance with reality. The
alternatives given under each
question indicate the conclusion(s)
that may logically follow from the
given statements. Choose the correct
alternative :

. Statements :

All xivs are trax.

All trax are fnix.

Conclusions :

I. All trax are xivs.

II. All xivs are fnix.

(A) Only conclusion I follows

(B) Only conclusion II follows
(C) Either conclusion I or II follows

(D) Neither conclusion I nor II
follows

. Statements :

Some computers are telephones,
All telephones are elephants,
Conclusions :

I. Some computers are elephants.
II. All telephones are computers.
(A) Only conclusion I follows-

(B) Only conclusion I follows
(C) Either conclusion I or II follows

(D) Neither conclusion I nor Il
follows

AT-IT—A
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47. Statements :

Some ears are eyes.

Some tongues are teeth.
Conclusions :

[. No tooth is ecar.

1. Some ears are teeth.

(A) Only conclusion I follows

(B) Only conclusion II follows
(C) Either conclusion I or II follows

(D) Neither conclusion I nor II

follows

. Statements :

All hives are shells.

No shell is house.
Conclusions :

I. No hive is house.

II. Some houses are shell.
(A) Only conclusion I follows
(B) Only conclusion Il follows
(C) Either conclusion I or II follows

Neither conclusion I nor Il

(D)

follows



e (uva &, 45 | 48) :

45.

wels ueH # 8 %9 & ud 39 4 Freed
wF AR (13 1) ¥ &y mw Fa
& WA WA WY AV A 29l 8 g1
ol | Wi WA & e fy o faee,
wel & affs Frepdl ) dha F1
t1 o8 famew =1 AW Fite
g

At xivs. trax |

At trax fnix ¥

Fremd -

I. B trax xivs 21

II. 3 xivs foix ¥

(A) Fam fesd 1 &&1

(B) #as frerd IT 58

(C) fremd 1 o 11 w6 2

M) F Fed 1 3 @ 11 W@
99

wE T SEHE B

gift 2EEA wdt ¥

freand -

1. ®p weger wmd )

1. @it 2P F7gt )

(A) Faa freed 1 @@

(B) #aa famwd 11 wd

(©) foepd 1 @1 11 58 %

(D) 7 ferd 1 7 & 11 |8

AT-11—A
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47.

w9

w9 ®A da £

g v 2 T
Fremed -

1. #% zfa M 7@ ¥
II. #3 F[ 39 ¥

(A) #aa freed 1 58
(B) #a@ frad 11 w@l
) frd 1 11 w8t %
D) 7 frad 1 7 & 11 ¥
HIA

oYl B9 @e §

w ®@e W TE E
e

I #¢ zw = T ¥
II. =9 | & &

(A) waa frad 1 @@
(B) #am fred I wel

(©) Fresd 1 0 11 & %

(D) 7 fepd 1 9 & 11 58

P.T.O.



Directions (Q. Nos. 49 and 50) ; | Directions (Q. Nos. 51 to 54) :
Letters of the words given below
In a certain code language, have been jumbled up. You are
required to construct these words.
Each letter has been numbered and
is sweet’ each word is followed by four options.
Choose the option which gives the
correct order of the letters as
‘furniture is good’ indicated by the numbers to form
the words :

5. ECKPTO
1 2 3 45 6

I. ‘cod dex nou’ stands for ‘banana

II. ‘piz dex hux’ stands for

I11. ‘cod hux ple’ stands for ‘banana

and furniture’

IV. ‘da ber nou' stands for ‘oranges (A) 564123
are sweet’ (B) 416532
49. Which word in that language stands (C) 462315
J (D) 136245
for ‘sweet’ ?
2. T L A B E R L
(A) dex
1 223 4 8 6 7
e (A) 2345671
(C) cod (B) 2315476
M) tru (C) 4153267
(D) 4152736
50. W§atdoespxzstandfor? 5. RITPIOMEXSY
(A) Banana 1.2 83 465687 89
(B) Furniture (A) 456821379
B) 416827539
(C) Good !
(C) 417852639
(D) Orange (D) 325169487

AT-I1—A 24



v (wvT ®. 49 7 50) :

TF favsm FE s 9,

L ‘cod dex nou’ A sfiwrg ‘B

49.

Har '

‘piz dex hux’ ¥ fourg ‘it
=3 &

‘cod hux ple’ & #fuumg ‘@ 3
wira

‘da ber nouw’ ¥ fymwma ‘wal
Lich

W oy ¥ wFE v w1 39 dia

(sweet) & ?

IL.

111

(A) dex

(B) nou

(C) cod

(D) tru

‘piz # 4 ¥ :
(A) ®e

(B) Wt

(C) F=A

(D) wa

AT-II—A
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few (wvt & 51 | 54) :

al.

52.

4 fau U =l # sie sematiE £
TR 3T Y= Ft w5 ) vl
AW B F 3w fewm o ¥ 9 v
v % AR fawen ¥ ww fawew 9
N oSG w1 W w9 Ry aw @

AR T HL |

ECKPTO
1 2 3 45 6

(A) 564123
(B) 416532
(C) 462315
(1) 136245

TLASERIL
1 2 3 45 6 7

(A) 2345671
(B) 2315476
(C) 4153267
(D) 4152736

RITPIOMXY
1 23 456 7 8 9

(A) 456821379
(B) 416827539
(C) 417852639
(D) 325169487

P.T.O.



54.

»

ANCTIBE
1 234567
(A) 3146752
(B) 3165274
(C) 3126547
M) 3714256

Directions (Q. Nos. 55 to 58) :

55.

Each of these questions has a |

problem and two statements,
labelled I and II. Decide whether the
statements are sufficient to answer
the given problem :

What is the value of the ratio
p:q?

. 3p=2

II. 2p +g =6

Choose the best alternative from the
following :

(A) If you get the answer from I
ALONE but not from II
ALONE

If you get the answer from Il
ALONE but not from I ALONE

If you get the answer from
BOTH I and II TOGETHER,
but not from I ALONE or II
ALONE

If EITHER statement I
ALONE OR statement Il
ALONE suffices

(B)

(©)

(D)

AT-II-A
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56.

57.

What is the value of the integer

n?

L n2-10n+9=0

1 1
>—

n-1 9

Choose the best alternative from the
following :

(A) If vou get the answer from I
ALONE but not from II
ALONE ' '

If you get the answer from II
ALONE but not from I ALONE

If you get the answer from
BOTH I and II TOGETHER,
but not from I ALONE or II
ALONE

If EITHER statement 1
ALONE OR statement 1I
ALONE suffices

If n is an integer, is n a two-digit
number ?

I. 100n is a four-digit number.
I. n?isa four-digit number.

Choose the best alternative from the
following :

(A) If you get the answer from |
ALONE but not from II
ALONE

If you get the answer from II
ALONE but not from I ALONE

If you get the answer from
BOTH I and II TOGETHER,
but not from I ALONE or Il
ALONE

If EITHER statement 1|
ALONE OR statement Il
ALONE suffices

L3
II.6

(B)

(C)

(D)

(B)

(C)

(D)



5. A NCTIBE

1 234567
(A) 3146752
"(B) 3165274
(C) 3126547
(D) 3714256

e (99w &, 55 ¥/ 58) :

TRF WA A ET e AR Iall
2 wa7 ¥ fofy =i 5 s @
e W 9GE OB

55. p :q FUA H WA FE ?

L 3p=%

II. 2p+q=6

fre @ v fawen 9w

(A) 3% 39 Faq w97 0F (1) F &
g waa & (1) § 7@

(B) A% IW o F99 2 (1D F A
w U (1) |

(C) 4fz =9 1 9 I 41 g5 &9
F IW B W Fad 1 A Bad 10
& ‘

(D) asmlmﬁanﬁ@ahétﬁ
Y e I

AT-1I—A
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56.

57.

qui# (integer) n H Y& 31 & ?
L n2-10n+9=0

1 1 1
- ) — i — > -
9

6 n-1
fe § &/ 3w fawen Y

(A) 3% 3 Faa F93 T (D) A &
T wad 3 (1) | 78

(B) 9ft s Fa@ s D (D A A
W TE () A 7@

(C) afz w97 I & II 3H SgF &Y
# 3w 8 T Baw | W Baw 11
a

(D) F97 | s19a 97 [1 § | F18
HYA T IW

Az n TH iiE ¥ 2R a7 A IE A

%2

1. 100n IR 3% 1 F=0 B

1. n? =m s 51 FeEn &

fr 4 § sy fawen gfm .

(A) afz 3 Fad 9 & (D) B &
R #ad q (1) § &

(B) afe S Faa s A (1D B &
WU (1) A &

(C) 3k ®a7 [ 3 11 TF §gF &9
FIW & WA FA4 1 W Faa 1
] T

(D) #9791 s19an =49 [[ § | # ot
FY YA TW

IL.

P.T.O.



58. What is the average of p, q, r, s

and ¢ in terms of m and n ?

I. The average of p, g and r is m.

IL.

The average of s and ¢ is n.

Choose the best alternative from the

following :

(A)

(B)

(C)

(D)

If you get the answer from |
ALONE but not from II
ALONE

If you get the answer from II
ALONE but not from I ALONE

If you get the answer from
BOTH I and 11 TOGETHER,
but not from I ALONE or Il
ALONE

If EITHER statement |
ALONE OR statement II
ALONE suffices

Directions (Q. Nos, 59 to 63) :

59.

Find the wrong number in the

following sequences :

56, 72, 90, 110, 130, 156 1s :

(A)
(B)
(©)
(D)

72

110
130
156

AT-11—A

28

61.

62.

8, 13, 21, 32, 47, 63, 83 is :
(A) 32

(B) 47

(C) 63

(D) 83

0, 7, 26, 63, 124, 217, 342 is :
(A) 217

(B) 7

(C) 26

(D) 63

7, 4, 5, 9, 20, 51, 160.5 is :
(A) 4

(B) 5

() 9

(D) 51

6, 10, 14, 34, 66, 130, 258 is :
) 10
(B) 14
(C) 34

(D) 66



58. p,q.r et man el F shom

e 7

I p,g%r® 3mamt

’II. sqt® FAgan ¥

frer d @ aygea fasey gfg .

A MI|ITT@FA @ ) A A
T #aa 3 (D) | 7@

(B) 9t W Faa w4 2 (I B &
T (1) F T

(C) aft %97 1 3 1l 3H HgF &Y
¥ IW @ Wg Faa | W FHaw 1l
B

(D) F449 1 599 94 11 & J # ot
T THE IW

frEw (v ®. 59 F 63) :

59.

frs #m ¥ wem T gfen
56, 72, 90, 110, 130, 156 :
(A) T2
(B) 110
(C) 130

(D) 156

AT-11—A
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61.

62.

8, 13, 21, 32, 47, 63, 83 :
(A) 32
(B) 47
(C) 63

(D) 83

0, 7, 26, 63, 124, 217, 342 :

(A) 217

(B) 7

(C) 26

(D) 63

7, 4, 5,9, 20, 51, 1605 :
(A) 4

(B) 5

)9

(D) 51

6, 10, 14, 34, 66, 130, 258 :

(A) 10
(B) 14
(C) 34

(D) 66

P.T.O.



Directions (Q. Nos. 64 to 68) :

64

67.

What should come next in the
following number series ?

98761234598712345
987123498

(A) 3
(B) 1
(C) 2
(D) &
ABBDCFDHEJ
(A) N
(B) O
(C) K
(D) F

IHGFEDCBAIHGFED
CIHGFE

(A) 1
(B} C
(C) B
(D) A

975631186422975318
6422975318642975

(A) 1
(B) 5
(C) 3
(D) 5
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68. 22323423452345623
456

(A) 2
(B) 7
C) 8
(D) 3
Directions (Q. Nos. 69 to 71) :

These questions are based on the
following English alphabets/numeric
numbers/symbols arrangement.
Study it carefully to answer these

questions.

ASB6#THU%38FVR2
I@e\41WEIYBOLS

69. How many such numeric numbers
are there in the above arrangement
each of which is immediately
followed by a vowel but not
immediately preceded by a numeric
number ?

(A) None
(B) One
(C) Two
(D) Three



frdwr (99 ®. 64 F 68) :

67.

Fefafam &% daan § am 701 @
wifen ?
98761234598712345
987123498

(A) 3
(B) 1
(C) 2
D) §
ABBDCFDHEJ
(A) N
(B) O
(C) K
(D) F

IHGFEDCBAIHGFED
CIHGFE

(A) 1
(B) C
(C) B
(D) A

975631186422975318
6422975318642975

(A) 1

(B) 5

(C) 3
(D) 5

AT-TT—A
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68.

22323423452345623

456
(A) 2
(B) 7
(C) 8

(D) 3

Féwr (uva &, 69 T 71)

fau . weq At 9, e, fad W
aufg Bl e AT A T TW 2

ABB6#7THU%38FVR2
I@\41WEY9OLS

FW E W wme # fEeh e
gt § fani ar § = ¥ fag =
Hem 7 T ?

(A) =ri¢ 78

(B) T=

©)

) M

P.T.O.



70.

TXs

72.

How many such symbols are there
in the above arrangement, each of
which is immediately followed by a
consonant and also immediately
preceded by a number ?

(A) None
(B) One
(C) Two
(D) Three

If all the symbols are dropped from
the above arrangement which of the
following will be eighth from the left
end 7

(A) V
(B) $
© U
(D) 3

How many such digits are there in
the number 7346285, which are as
far away from the beginning of the
number, as they will be when
arranged in ascending qrder within
the number ?

(A) None

(B) One

(C) Two

(D) Three

AT-11—A
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73.

74,

76.

76.

The greatest number among 3%,
4%, 5% and 6% is :

(A) 30

(B) 449

(C) 59

(D) 620

If /5329 = 73, then the value of

V5329 + 5329 + J0.5329 +
0.005329 + J0.00005329 is :
(A) 81.1003

(B) 81.0113

(C) 81.1103

(D) 81.1013

- o QT o
e square root of ("0 + [0.

+(0.75)% + 1] is :

(A) 1

(B) 2

) 3

(D) 4

The largest among the numbers

Vi-, B-48. -,
J11 -9 is :
A J7-V5
(B) J5-3
(C) Jo-J7
D Ji1- /9



70. TwjE T § ¥ FHE viw-fw

71.

72,

§ fosh uwen = oda € A el
w7

(a) e

(B) TH

(C) &

(D)

gfe Fwdaa =aw § ot wits-fag 52
feg ot @ fr= § | aw and § At
#m ? '

A) V
(B) §
(C) U
(D) 3

e 7346285 # W fFE 4w F A
e & s § Ia @ g ¥ e
fr g #) smd w9 § A W A
B2

(A) ¢ &
(B) T
(©) &

(D) =

AT-11—A
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73.

74.

76.

76.

350 440 530 37 620 W way 951 H=
4

(A) 3%0

(B) 430

(C) 5%

) 620

ufz Jg329 = 73, @ (5320 +
J5320 + J0.5329 + J0.005329
+ J0.00005329 1 YEF EWW :
(A) 81.1003

(B) 81,0113

(C) 81.1103

(D) 81.1013

(0.75)°
(1-0.75)

YA ¥

(A) 1

(B) 2

(©) 3

(D) 4

Ji-¥B, B-483, B-47,
J1 -9 # w8 =5 59 ¥ ¢
(A) J7-5

B) J5-3

(€) 9o -7

(D) V11 -9

+ 1076 + (0.75)% + 1] =1

P.T.O.



71.

78.

79.

If .ﬁ,/'z,h\[f = (343) ~ 1, then

¥ is equal to :

z

el ele T owin

(B)

(C)

(D)

If x = (0.08)2, y = and

1
(0.08)2
z = (1 - 0.08)2 - 1, then out of the

following, the true relation is :
(A) y<xand x = z

(B) x<yand x = 2

C) y<z<x

D) z<x<y

The value of the expression
x* - 1728 4 1752 - 172 + 17 at

x =16 is :
(A) O
(B) 1
(C) 2
D) 3

AT-11—A
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80.

81.

If 738A6A is divisible by 11, then
the value of A is :

(A) 6

(B) 3

© 9

(D) 1

Walking at 3 km per hour, Pintu
reaches his school 5 minutes late. If
he walks at 4 km per hour, he will
be 5 minutes early. The distance of
Pintu’s school from his house is :
(A) % km

(B) 2 km

(C) 25 km

(D) 5 km

Which number should replace both
the question marks in the following
equation ?

_? _ 256
576  ?
(A) 384
(B) 398
(C) 404
(D) 416



— v -

77,

78.

79.

ki 7,[7,/7J7T.T =(343) ~ L, Ay

T T :

(A)
(B)

(©)

(D)

el Wi ™ Wi

1
(0.08)

z=(1-0082%-1 % fm= & =&
ey ¥ .

afe x = (0.08)2, y =

A y<xW@zx=z
B)x<yWzx=2z
C)y<z<x

D)z<x<y

it 2 — 1708 + 172 - 1Tx + 17
at x = 16 ¥ HH t :

(A) 0
(B) 1
(C) 2
(D) 3

AT-II—A
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81.

80. 4t 738A6A 11 A W &, @A F

Ll g
(A) 6
(B) 3
(C) 9
(D) 1

faz 3 fait. wfs o2 =1 TR R HA
e 5 5 2 | wdaam ) ARk aww
4 faeit. wia sm2 =t TRW R 59 @ 97
e 5 fire sl wem ¥ iR 3w
Ame GG ?

3

(A) 2 ferdt.

(B) 2 famit.

(C) 2.5 fat.

(D) 5 Tt
frefafas witsm | S g 3
yeAtaE # ARy HwO 7

? 256

76 ?
(A) 384
(B) 398
(C) 404
(D) 416
P.T.O.



83. What should come in place

question mark (7) in the following

question ?

gll o 427 , 933 _ o7
(A) 12
(B) 14
(C) 58.806
(I)) None of the above
The number x = 1.242424

value of (p + @) is :
(A) 74
(B) 76
(C) 222
(D) 72

Directions (Q. Nos. 87 to 91) :

Study the following graph carefully to answer these questions

can
be expressed in the form x = p/g,
where p and ¢ are positive integers
having no common factors. Then the

of | 85.

86.

If the numerator of a fraction is
increased by 800% and the
denominator is increased by 300%,
the resultant fraction is 9/7. What
was the original fraction ?

(A) 4/7
(B) 13/12
(C) 117212
(D) 7/4

By how much is 3/5 of 735 greater
than 2/3 of 633 ?

(A) 17
(B) 13
(C) 23
(D) 19

700

2

500 +

400

300

W product A

200 +

N productB

PRODUCTION IN LAC TONS

100 -+

2000 2001 2002

2003
YEARS

2004

2005

AT-IT—A
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83.

frefafas v 8§ ywfeg 3 = W

= an wfew ?
81.1 . 42.7 - 23.3 - 2'.’
(A) 12
(B) 14
(C) 58.806
D) 37 & | #§ T
WEA x = 1.242424 ... 3

x = plq ¥ wfvems e =1 w@a ¥
Az p 3N ¢ TETEE YiE § e
(Ff Hat) g T T @
(p+q)$lT[N%:

(A) 74

(B) 76

(C) 222

(D) 72

fder (v ®. 87 | 91) :
e e @t e | ufer 9 weel & 3W difem

85.

86.

3fe U% HN F YHE F 800% TG
s 3 v (EREE) #1300%
@y 9 @ uforEsy 59 9/7 ¥
Infisw (qa) sm #1 § ?

(A) 4/7
(B) 1312
(C) 11212
(D) 7/4

735 %1 3/5, 633 & 2/3 A fHa
¥ i (az1) & 2

(A) 17
(B) 13
(C) 23
(D) 19

700

600 =
§ 500
z 400
8 300
E 3  product A
§ 200 ® productB
£ 100
0
2005
AT-IT—A P.T.O.




87.

88,

What is the respective ratio between
the total production of product A
during the years 2000, 2001 and
2002 and the total production of
product B during these three

years ?

(A) 13 : 12
(B) 12 : 13
(C) 25 : 24
(D) 24 : 25

Total production of products A & B
together for the years 2000, 2002 &
2004 is what percent of the total
production of the two products
together for the years 2001, 2003
& 2005 ? (rounded off to two digits
after the decimal).

(A) 77.42
(B) 78.41
(C) 81.72

(D) 83.64

AT-I1—A
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89. What is the percentage increase in

91.

production of the two products
together from the year 2004 to the
year 2005 ? (rounded off to the
nearest integer).

(A) 29

(B) 32

(C) 35

(D) 24

What is the average production of
product A (in lac tons) for the given
years ?

2
(A) 4563

1
(B) 458§

1
(C) 475 6

2

(D) 469§

Which of the following combinations
of year and percentage indicate the
lower percentage fall from the
previous year in the production of
product B ?

(A) 2004, 5%

(B) 2004, 10%

(C) 2002, 15%

(D) 2002, 20%



87. T ‘A’ 3 e B’ @ 2000, 2001 | 89. T TUR F WA SAEA H 2004 §
2005 7% e wfav &1 a@ad @ ¥
q 2002 % dH a6l & FA IQEA H ¥
(Trpemm qoies a@&) ?
gafaa ERRIGEE % ? (A) 29
(B) 32
(A) 13 : 12
(C) 35
(B) 12 : 13 (N 24
90. fau mu =€l § 3= ‘A’ W ma IR
(C) 25 : 24
% (W@ H) ?
(D) 24 : 25 2
(A) 4563
88. 34 ‘A’ 3 ‘B’ gFI @1 2000, 2002 @) 453%
3R 2004 =1 FA FARA A B 2001, 1
(C) 4756
2003 3% 2005 F FHe IUREA F fFHan
, D) 469>
ufqvre & (gymera & 4R 71 S 3
91. 3@z B & wWed d Fr=fafaa awl
R # #rn ot fred ad & gem H
(A) 77.42 faed F1 w9 =1 finEe # 3fa #61
wmE?
(B) 78.41 . (A) 2004, 5%
(B) 2004, 10%
(C) 81.72
(C) 2002, 15%
(D) 83.64 (D) 2002, 20%
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Directions (Q. Nos. 92 to 96) :

Study the information in the following table to answer these

questions :

Details of 1500 total employees and 800 male employees working in an

organization in various scales are given in the table :

employees | | | I [ v v Vi Vil
scales —
Total 22% 15% 19% 10% 12% 14% 8%
1500
employees
Total 24% 18% 16% 11% 12% 9% 10%
800 male
employees
92. How mﬂ"z females are working in | 95, The number of male employees
acales I 1 working in Scale VI is what per cent
(A) 144 of the total number of employees in
(B) 81 that scale ? (rounded off to the
(C) 9 nearest integer)
(D) 138
: . (A) 35
93. What is the ratio of male to female
employees working in Scale V 7 (B) 46
(A) 7:8 (C) 44
i g (D) 34
C) §:7
D 1:2 96. What is the ratio of the female
94, What is total number of female aciplayeea in Bealen VI b the mdle

employees working in Scales III and
IV together ?

(A) 219
(B) 157
(C) 162
(D) 285

AT-11—A
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employees in Scales I ?
(A) 32 :23
(B) 22 : 33
(C) 23 : 32
(D) 23 : 12



T (wvT w92 |/ 96) :
fo= Zas ¢ @ 7 ufEw 3 9yeEl & 39T drav

U WS ® F %7 7F 77 1500 FwHEiE s 800 gew e, |t fafas =@t
ARt = fmmidmw i,

employees i | | I il v v Vi Vil
scales —
Total 22% 15% 19% 10% 12% 14% 8%
1500 |
employees |
Total 24% 18% 16% 11% 12% 9% 10%
800 male
employees
92. Wa-Il & fbr= === =@ ¥ 7 | 95 @w-vIH =W F ® 9 AR 50
(A) 144 e ® wme weandl 1 fEan wfave
(B) 81  (Frean qis 7) ?
w120 (A) 35
(D) 138
= 5 2 (B) 46
93. Fha-VH gEw = T S [ & A9
g ? (C) 44
(A) 7:8 D) 34
(B) 2:1
©) & 96. @ww-Vl § wria dfeen FHAE F
A a1 & [on FuafE |} e e
. : ?
94, ==-111 &7 IV == faaft wfean ¢
BHWG ¥ (A) 32 : 23
(A) 218 (B) 22 - 33
(B) 157 G4
(C) 162 Wy 208
(D) 285 (D) 23 : 12

AT-11—A 11 P.T.0O.



Directions (Q. Nos. 97 to 100) :

Study the following graph carefully and answer the questions given
below it :

Number of employees working in various departments of two different companies
(number in hundreds) are given in the graph.

j \
J ¥ NZ TN\

f
4
|

1
0
im HR Marketing  Finance Admin
Departments
97. The number of employees working | 98. What is the ratio of the total number
in the Marketing Department of of employees working in the Admin
Department of both the companies
company B are what per cent of the together :and the: total mumber of
total number of employees working employees working in the Finance
in the company ? Department of both the companies
2
(A) 30 ogeitie T
‘ (A) 2:3
ot (B) 4 :3
(©) 23 (C) 3:2
(D) 32 D) 3:4
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e (wv= ®. 97 | 100) :
frer e W A @ ufEw T weet & I dife
s § 9 am weeE 3t favnl § svie wdafed @ den (dwE) #

TE e

A //‘ \
AN
. \{\\. pp—

3 ~g—company B
2 \A

oY N 0w

No. of Employees
w

1
0
IT EL Marketing  Finance Admin
Departments
97. FTh B# wEfen v sk wda | 98 3w weme favm d S
=5 B = w7 gEET & waw wfaee Fa FHart 4F favm ® faw favm
5 Z i wria w@ weaE 4 R e
i E?
)90 (A) 2:3
B3 (B) 4:3
(€) 23 (C) 3:2
(D) 32 D) 3:4
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99. The number of Qmployees working 100. If the number of employees working

* in the HR department of company in the IT Department of company

: B is increased by 20%, what would
A is approximately what per cent of

be the difference between the
the number of employees working in

number of employees working in
the Finance Department of company

the IT Department of company B
B ? (rounded off to the nearest

and the Admin Department of

integer).
company A ?
(A) 44
(A) 500
(B) 207
(B) 350
©) B (C) 700
@) 228 (D) 400

AT-I1—A a1



99. 94t A % HR fagm = ===1d

HY4l B  FHHwrrm = =hem

fea wfawm § ? (Fs=== =i )

(A) 44

(B) 207

(C) 53

(D) 229

AT-11—A
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100.3fe Huit B = .. faym #

wuafedl 1 dJe 20% 9w 9 S, @

#uft B & #d.d. faum & sdadl 1

F9 A % wynatre faum B sdnfe

% w97 e sie @m 2

(A) 500

(B) 350

(C) 700

(D) 400

P.T.O.



